Coordinates of Points on Unit Circle
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Conclusion: For all points on the unit circle, since r = 1,
we can replace cosB with x and sinBwith y

SO, P(B) = (cos @, sing) Remember: Cast rule!
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Ex. Is the point (2, 1/2) on the unit circle? Justify your answer.
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Finding P(0) on Unit Circle

XY

Ex. If given a point with coordinates (5, 12), determine the
corresponding point on the unit circle. (5,1
2 2 2

A7+ W= 0
STHIRTE

25+ \44= (7

A q = ¢

15
— in :,_\ﬁ_
CosBG®= (5 >; =no r XK
R
X :ﬂ 5 re Sn@="J200
-5) +yT= 15 —
15
2H = \ﬁg: Q2 S
kf:i;OQ
J==J300
Ex. Given sm@—f?nd@fmd cosB. -
=) 2
Xt b :<l6\> %
X*= 6\-30 e
— oONH=
S FE o
X=2xg =—5



3 New Reciprocal Trig
Ratios or Functions

secantf=secb= 1 = 1 = r
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cotangent B= cot0= cos 0 =
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CAST still applies nita

Ex. Find cot 0 over (g,n) if sin6=3
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